— Bt EEABARTYRR—ILY—5

NG WY
g16@MBAXIVFR—WV)—=T vhVERT— E138

BFIyhR—ILU—T

JFL:

B B i20144£11 A9RA(A) 13.00 HA&MH90% =54 (KB m i Kk L REUs, R
X & BOLE & R (158°C | 2 E {69% BEL EvF(E) (2ERE EvFEE) KEH
IyFaAIvLaF—iTHE 15 T F FH 8% Bl E 2 0BHF EX EEZR BB & BEH
BHTEvH— LB = B & 1Kk miosna FIF BEE SRERIEL N EX 1,227\
B 23—-23 = - 20-23 ]
(h—LF—L) 0 BT % 1 (ESH—F—L)
BMARMEFC 0 Sl 2| ERmAarATuRFC
KICK OFF
] Ta—h = . F | || & . = Sa—h B
No. | OUTHES wig | = RF A S|E|E|® RFA Rt anie OUTESFS: No.
0 RIF i 11GK]GK| 31|®HA X 0
11 AN KA 2|DF|DF| 4|/MNR $5th 20 11
0 &7 &t 10{ DF| DF | 23|7K& B&RK 0
0 TE R 3| DF|DF| 26|20 I 1 1
0 =ik EH{= 6| MF| DF | 33|E L # (Cap.) 0 90+14%
844> 11 EH %h TIMFIMF| 5|H L & 1 1 1
0 #* &4 (Cap.) 8|MFIMF| 6|FE & 1 1
HT 0 AH £1E 14|MF|MF| 15|NE K& 0
645> 11 ;A B3k 20{ MF| MF| 25 |#ilis # 11 165>
0 FHH X 27|MF|MF| 29|B8 Hi& 11
1 1 A FER 29| FWlFw| 9|&Q B= 1l 1 1 89%
AME #BA 21| GK|GK| 1|#&H &G
1Bk X 9| DF|DF| 27|ERX 1EF
20 0 kKB KEH 11[{MF|MF| 10|LLAR EA 0 33
RE HAH 30(MF]FW| 20|55 & 0 9
7 0 ZH BN 17| FW|FW| 28|#r MBI 0 25
¥ H EE 25|Fw
14 0 =F Bl 33| Fw
=4 . Ri5 R R =4 . Ri5
EH FEsh AAR 3% 245> 2 | 23iKAK Bk 27
M 2 as B % 5353 | | 6iH/KE A 57
1P 3 42—+ 8 5 3
5. 2 7 GK 9 5i 4
5. 0 5 CK 3 21
108 11 21 E#EFK| 17 10; 7
11 3 4 REFK 8 4 4
18 3 4G4 6 3 3
00 00 0 PK 11 1 0
BREME| BRF—L | No. BEE 237 |BEEA REE: ~FUJIL ->TaR 1:FEHR/AAR xSBE SiYa—bk HATAVY
155y [ERBarmire] 9IAO BB 0—1 | s&-1{ PK 9 | ARS
104> [ERBarsbre| Bidk E 3 0—2 | F-1: $#FCK 1 k-3 5  i4u-t7M ~ Q-2 1 g1
29 1 9 — 5 wayFrL-i ERS
(G & RFRE] BTH47:04(2:04), $%448:37(3:37). HEFTERM 1:48:40
[fm&]

G THAR) ORIZIE, BHEFKDSS, BFEF—LOFTHAFICEDHE. RRLTVET,




